MATH ANALYSIS 1 HONORS
REVIEW ANSWERS for final exam 
REVIEW #1

1. y = (5/2)x + 3

2. (3,6)

3. (-3/2, -39/2)

4. y = -x – 3

5. -1

6. 3i√2

7. 8 + i

8. (7 – 3i)/2

9. x = 3/2

10. f(x) = (x + 2)(x - 1)²

REVIEW #2

1. f(x) = x(x – 3)(x + 4)² = x4 + 5x3 – 8x² – 48x

2. one

3. f(x) = (x - 5)(x² + 9) = x3 – 5x² + 9x – 45

4. k = 5

5. -3/2 ≤ x ≤ 5/2

6. No solution

7.  (-∞,-4)  (-2/3, ∞) 
8. x ≤ -4 or x ≥ 2     (-∞,-4]   [2,∞)
9. I, II, IV

REVIEW #3
1. (-∞,∞)

2.  [1, ∞)
3. A relation in which every x matches with only one y. A vertical line can only intersect a function’s graph at one point.

4. f(x) = 2x + 12

5. f(g(x)) = 4x² – 10x + 9     2x² +2x + 3     
6. One-to-one functions. A horizontal line will only pass through the function once.

7. 7/√58 = 7√58 / 58

8. -1/√10 = -√10 / 10

9. -√3 / 2

10. 5π/6

11. 120º

12. Quadrants II and III

13. secant π/2, 3π/2; cotangent π, 2π or 0

REVIEW #4

2.  153º

3.  204º, 336º

4.  1.762, 4.90

5.  132º, 228º

6.  A = 2, P = 4π

7.  y +2 = -2 cos (π/4)(x – 1)

8.  Cosine wave with A = 3, P = π, shifted up 2 and to the right 1

9.  – cos A

10.  sec² X
11.  34º, 214º

12.  63º, 243º, 101º , 281º

REVIEW #5

1. 41º, 41º, 98º

2. 33.5m

3. a. 0
b. 2

4. B = 52.5 km, A = 43.4 km

5. 107º, 49º, 24º

6. 448 miles

7. a. 32
b. 64/81

8. a. 1/3
b. 0

9. 3

REVIEW #6

1. a. 5
b. -2
c. -1

2. a. y= (2x)² = 4x²
b. y = 27x/10

3. a. 1/3 (4 log N + 2 log M)
b. log M – 3 log N

4. a. 2.15

b. 3.46

5. (0,-2) and (2,0)

6. Vertices (4,0), (-4,0)
Foci (√7,0), (-√7,0)

7. (x ² / 16) + (y ² / 25) = 1

8. a. (x² / 16) – (y² / 4) = 1
b. y = ½ x and -½ x

9. vertex = (0,0)

focus = (0,2)

directrix : y = -2

10. vertex = (4,0)

